ITEM

| wp-18
[ WP - 18F
: WP - 18V

Part No

| WP-18.12RE.38

WP-18.25RE.38

| wp-18.12RE.D7

WP-18.25RE.D7
| WP-18.12REC

| WP-18.25RE.C

| WP-18.12RE.EUT
| WP-18.25RE.EUT
| WP-18.12RELT
| WP-18.25RE LT

KT17.16

| KT17.24
KT17.32

WP - 18FV

| WP - 185P

| WP-18P

| 18PB

| 18.R24

| 10Nt
[ 10N22
| 10N23

| 70062WT

10N 24
10N25
54 N 20

| 10N29

10N 30

| 10N31

| 70064WT
10N 32

| 10N 28

406488

in

| Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon
' Torcia TIG WP-18 Ergon
' Torcia TIG WP-18 Ergon
[ Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon
| Torcia TIG WP-18 Ergon

TIG TORCH WP -18

TENSION

TIG

‘ POWER | COOLING |

CLASS

| 350A | WATER I

DINSE" CONNECTION

CENTRAL CONNECTION EURO CONNECTION
a8 G Mi2x1

3G

> g il ™

) o=
DESCRIPTION | ORIGINAL REF. | PACK

mt.4 - 3/8"Gas - Complete TIG torch WP-18 Ergon mt.4  3/8" Gas |
mt.8 - 3/8"Gas - Eomplate TIG torch WP-18 Ergnn mt8 3/8" Gas
mt.4 - DINSE" 70 - Complete TIG torch WP-18 Ergon mt.4 DINSE" 70
mt.8 - DINSE* 70 - Complete TIG torch WP-18 Ergon mt.8 DINSE" 70

‘mt.4 - Att. Central. -
mt.8 - At Central. -

mt.4 - EUROTIG - Complete TIG torch WP-18 Ergon mt.4
mt.8 - EUROTIG - Complete TIG torch WP-18 Ergon mt.8
mt4-LTEC® - Complete TIG torch WP-18 Ergon mt.4
mt.8 - L-TEC” - Complete TIG torch WP-18 Ergon mt.8

Kit di completamento @ 1,6 mm.
| Kit i completamento @ 2,4 mm.
| Kit di completamento @ 3, 2 mm.

Gorpn torcia WP-18

1a | Corpo torcia WP-18F flessibile

| 1b| {:orpo torcia WP-18V con rubinetto

- Additional kit @ 1,6 mm.
- Addtiona .0 2.4 .
- Additional kit @ 3,2 mm.

- WP-18 torch head
- WP-1GF flox torch head
- WP-18V torch head w/VALVE

13 | Corpo torcia WP-18 FV flex con rubinetto - WP-18FV flex torch head w/VALVE

1d| Corpo torcia WP-18SP diritta manuale

|1e Corpo torcia WP-18P macchina

Impugnamm ‘macchina

_ Cremag_liera
[ Pinza serraelettrodo B 0,5 mm. - 0,020"
[ | Pinza serraelettrodo 8 1,0 mm. - 0,040

sza serraelettrodo @ 1,6 mm. - 1!1 6"

| Pinza serraelaﬂrm!_o g2 l] mm. - W

I Portapinza @ 0,5 mm. - |
Portapinza @ 1,0 mm. -

[ Pni'lapinzﬁ g 1,6 mm. -
Pnrtapinza @ 2,0mm.-

| Portapinza @ 2,4 mm. -

Portapinza @ 3,2 mm. -

| Portapinza @ 4,0 mm. -

| Pinza serraelettrodo & 2 4 mm. - 3/32"
| Pinza serraeletirodo @ 3,2 mm. - 1/8"
sza serraelettrodo @ 4,0 mm. - 5/32"

- 0,020
-0,040"
116"
4/64"
-3/32"
-1/
.-5/32"

- WP-18SP pencil torch head
- WP-18P automatic torch head

- Automatic handle

- Toothed rack 24

- Collet @ 0,5mm. - 0,020"

- Collet © 1,0mm.-0040"

- Collet 0 1,6 mm. - 1/16"

- Collet @ 2,0mm, - 4/64"

- Collet @ 2,4 mm.-3/32"

- Collet @ 3,2mm.-1/8"

- Collet O 4,0mm, - 5/32°

- Collet body @ 0,5 mm. - 0,020"

- Collet body @ 1,0 mm. - 0,040"

- Collet! budy 2 1.6mm. -

- Collet body @ 2,0 mm. - 4/64"

- Colletbody @ 2,4 mm. - 3/32"

- Collet body @ 3,2 mm. - 1/8"
~ - Colletbody @ 4,0 mm. - 5/32"

Cnmpleta TIG torch WP-18 Ergon mt.4
Complete TIG torch WP-18 Ergon mt.8

T e

Central Connection
Central Connection
EUROTIG Connection
EUROTIG Connection
L-TEC® Connection
L-TEC" Connection

WP-18 P
AUTOMATIC
WP-18 1
| WP-18F 1
WP-18V | 4
| wp-18/v | 1
WP - 185P il
| wp- 18P 1|
| 18PB 1|
| 18R24 S
[ 10Nt 10
| on22 10 |
| 10N 23 10
{ 10 |
L 1ON24 | 10 |
| 10N 25 10
| 54N20 10 |
| 10N29 10 |
10NS0. | 10
| 1oN31 10 |
10
| 10N32 10 |
| 10N 28 10
| 406488 10 |

NEW COIR sp.a is in no way affiliated with DINSE"-L-TEC". The parts advertised for sale are not genuine DINSE"-L-TEC" parts, but are parts made for and by NEW COIR spa
Reference to DINSE"-L-TEC" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine DINSE"-L-TEC" parts in place of NEW COIR s pars.



Part No

10 N 50
10 N 49
| 10N48
10N 47
10 N 46
| 10 N45
10 N 44
10N 49 L
10N48L
10NA4TL

105245
1052 42
105244
1052 45
| 08N78
08N 79
08N 80
| 18.c6
| 54N01
[ 45v24
|45V 25
_70060WT
| 45V 26
[ a5v27
| asvoe

[ 5418
54N 17
| 54N 16
N 54.”1-5_
54N 14
| 54N 19
; [ sanN15L
ST [sant6L
[ 54N17L

i

Ba

| 54N 175N
| 54 N 16.SN
54 N 15.5N

54N14.5N

54 N 19.SN
54N 63

10 — ,

45V 0204
| dﬁ\l"'ilﬁ_
| 45V 64
| 995795
45V 63

S57N75
| 57N74

/ 53 N 88
53N 87
57N75 SN
| 57N74 SN
| 53N88SN
| 53N 87 SN
57Y 02
300M
57Y04
98 W 18

16 | 76.001
| 16.003

11

7

12

17 - | T6.0031
| 16.004
17a AR — | 7G.0041
| T6.0042
|18 ” ﬂ | 76.0051

[ doved.12

| 41v20.25
T6.200.13

54N 18.SN

DESCRIPTION

Uunllo :erami:a Gr.4@ 6,0 mm. - 1/4*
Ugello ceramica Gr 5 ] s IJ mm, - 5!16"
| Ugello ceramica Gr B 5 B _g 5 mm. - 3/8"
Ugello uetamiua Gr.70 11,5 mm. - -7/16"
i.lhélln ceramica Gr. 80 12,7 mm. - 1/2*
. Ugello ceramica Gr. 10 g 17,5 mm. - 5/8"
Unellu ‘ceramica Gr. 128 19, IJ mm. - 3/4*

u;;ailo ceramica lungo Gr. § 8 8,0 mm.
Ugnllo_nerarnil:a lungo Gr. 6 8 9,5 mm.
Ugello ceramica lungo Gr. 7 8 11,00 mm.

| Ugello silicon nitride Gr. 4 @ 6 - 1/4*

Ugello silicon nitride Gr. 58 8 - 5/16"

| Ugello silicon nitride Gr. 6 8 9,5 - 3/8"
Uunliu silicon nitride Gr. 7 @ 11 - 7/16"
1 Ugello silicon nitride Gr. 8 8 12,7 - 1!2"

| Ugello silicon nitride Gr. 10 8 17,5 - 5/8"

| Ugello silicon nitride Gr. 128 19 - 3/4"

Isulanle interiore corpo torcia

| Isolante inferiore Gas Lens
[ | Portapinza Gas Lens 8 1,0 mm. - 0, 040"

| Portapinza Gas Lens @ 1,6 mm. - 1/16"

Panaplnza Gas Lens @ 2,0 mm. - 5/64"
] Portapinza Gas Lens @ 2,4 mm. - 3/32"

Pottapinza Gas Lens @ 3,2 mm. - 1/8"

| Portapinza Gas Lens @ 4,0 mm. - 5/32"

| Ugello ceramica Gas Lens Gr. 4 8 6,0 mm. - 1/4*

I Ug'illé ceramica Gas Lens Gr. 5 8 8,0 mm. - 5/16°
Ugello ceramica Gas Lens Gr.6.09,5mm. - 3/8°
| Ugella ceramica Gas Lens Gr. 78 11,0 mm. - 7/16"
I.Ignllo ceramica Gas Lens Gr. 8 @ 12,7 mm. - 1/2°

I.Ig__ellg_n_mmlca Gas Lens Er. 118 ﬁ' 5 mm. - 5/8"

Ugello G.L. lungo Gr.7 @ 11mm.-7/16" L=76mm.
| Ugello G.L. Iunuo Gr.6 8 9,5mm.-3/8" L-?ﬁmm

| Ugello G.L. lungo Gr.5 @ 8,0mm.-5/16" L=76mm.

l.luaila gas lens silicon nilrlda Gr.4 B6,0mm.-1/4" -

Ugello gas lens silicon nitride Gr.5 B8,0mm.-5/16" -

| Ugello gas fens silicon nitride Gr.6 B9,5mm.-3/8" -
| Ugello gas lens silicon nitride Gr.7 811,0mm.-7/16" -
Unailo gas tens silicon nitride Br.a 312.7mm.-1f2“
Uuelln gas Ians sllicon nitride Gr11 #17, 5mm. &fﬁ"

| Isotante G.lens LG. diam.

Portupl!-gu gas lens large diam @ 1-0,040"
Pariapinzs gas lens latga diam @ ‘l 6- 1;*16"

Ppnapinga gas lens large diam @ 2,4-3/32"

| Portapinza gas lens large diam @ 3,2-1/8°
Ponapim_:? gas lens lms dlam a 4 0-51'32"

Ugs!!o ceramica G. lens large diam. Gr. 6- 8 9,5
[ Ugello ceramica G. lens large diam. Gr. 8- 8 12, i
Ugello ceramica G. lens large diam. Gr. 10- 8 16,0

| Unnlln ceia_a_mlca_ﬁ lens large diam. Gr 12~ a19,0

[ Ugelln gas lens silfcqn nitride Iarns diam.Gr.6 89,5

| Ugello gas lens silicon nitride large diam.Gr.8 612,6 -
'Ugello gas lens silicon nitride large diam.Gr.10 816

| ugello gas lens silicon nitride large diam.Gr.12 819

Cappellotio Iunuo
[ cappallo“u medio
| Cappellotto corto
| 0-RING per cappellotto
| Impugnatura ergonomica
| Viti di completamento

" Micro 1 posizione

| Micro 2 posizione

Pulsante 1 posizione
___P_q!sante 2 poszione

| Pulsante lungo
L [_Siera e ghiera per impugnatura

Cavg_ggitg@rrenla mt. 4 3/8"G

| Icavo portacorrente mt. 8 3/8"G
Cavo portacorrente mt. 4 M12X1

| T6.200.14

o o=

| Cavo portacorrente mi. 8 M12X1

- Aluminacup Gr4 © 60mm.-1/4" 10N 50

- Aluminacup Gr.5 @ 8,0 mm, - 5/16" | _10N4s

- Aluminacup Gr.6 @ 9,5mm. - 3/8" | 10N48

- Alumlna cup Gr ? B 11 Smm 7M1e" | 10 N 47

- Alumina cqur 8 0 12‘?mm - 1/2" | 10N46

- Alumina cup Gr. 10 @ 17,5 mm. - 5/8" 10 N 45

- Alumina cup Gr. 12 g 19,0 mm. - 3/4* | 10N44

- Long (76 mm.)Alumina cup Gr.5 @ 8.0 mm. 10 N 49 L
- Long (76 mm.)Alumina cup Gr. 6 @ 9,5 mm. | 1oN48 L
- Long (76 mm.)Alumina cup Gr. 7 © 11,0 mm. | 10N47 L
- Silicon nitride cup Gr.4 @ 6 - 1/4" — | 1oszas ]
- Silicon nitride cup Gr.5 0 8 - 5/16° 105Z42

- Silicon nitride cup Gr609,5-3/8" | 105244

- Silicon nitride cup Gr.7 011 -7/16" 105245

- Silicon nitride cup Gr.8 @ 12,7 - 1/2" 08N78

- Silicon nitride cup Gr.10 @ 17,5 - 5/8° 08N79

- Silicon nitride cup Gr.12019-3/4° | 08N8O

- Torch body front insulator 18. CG

- Torch body front insulator for GAS LENS cup ' 54N 01

- Power cable mt. 4 M12x1 connection

- Power cable mt. 8 Mi2x1 connection

. 4BGSTD
J1-—— H20

' H20 ——=

.l 146

| 1620015 | Paccocavimt.4  3/8'G - Complete cable mt. 4 3/8"G connection STD |

| 7G.200.16 PaccocavimL 8 3/8G - Complete cable mt. 8 3/8°G connection STO
1G.200.17 Paccocavimt. 4  M12x1 - éﬁ?ﬁ;ﬁrele cable mt. 4 M12x1 connection

| 76.200.18 | Paccocavimt.8 Mi2x1 - Complete cable mt. 8 M12x1 connection |

- Collet body GAS LENS ©1,0mm.-0,040" | 45v24
- Collet hody GAS LENS 2 1.6 mm. - 1/16 |r 45V 25
- Colletbody GAS LENS 020mm.-5/64" |
- Collet body GAS LENS @ 2,4 mm. - 3/32" | 45V 26
- Collet body GAS LENS @ 3,2 mm. - 1/8" | 45va7
- Collet body GAS LENS @ 4 Omm.-5@32" | 45V28
- GASLENS Auminacup Gr4 060mm.-1/4* | 54N18

- GASLENS Auminacup Gi5  0B80mm.-5/16" | 54N 17
- GAS LENS Alumina cup Gr.6 09,5 mm. - 3/8" 54N 16
- GAS LENS Nun‘_nna__c_up {_Sr 7 @10mm.-7/16° | 54N15
- GAS LENS Alumina cup Gr.8 9127 mm. - 2 54N 14
- GAS LENS Alumina cup Gr. 11 @175 mm 5!3‘ 0y 54 N19
- Long G.L. Alumina Gr.7 @ 11mm.-7/16" L=76mm. | 54N 15L
- Long GL. Alumina _G_r,__s_l 9._5_mm.-$8'_L ?E_n'up: | 54 N 1 6 L
- Long G.L. Alumina GrSBBOmm -5/16" L=76mm 54 N 1?L

Gas lens silicon nitride. cup Gr.4 06,0mm. A1f4'_

Gas Fens_s_llic_,ﬁ qun_q_e_ E;iil_'s 9_8 omm. -5,-’16‘__ |
Gas lens silicon nitride cup Gr.6 89,5mm. -3/8° |
Gas lens silicon nitride cup Gr.7 211,0mm.-7/16° |
Gas lens S|-|ICOI'I nitride cup Gr.8 B12.7mm.-1/2 |
Gas lens silicon nitride cup Gr.11 B17.5mm.-5/8" ]

- Insulator G.Jens LG. diam. 54N63
- LG. diam. gas lens collet body @ 1-0,040" | 4sv0204 |
- LG. diam. gas lens collet body @ 1,6-1/16" 45V116
- LG diam. gas lens collet body 0 2,4-3/32" 45V64
- LG. diam. gas lens collet body @ 3,2- 1/8" 995795
- LG. diam. gas lens collet body 01 4,0-5/32° 1 asve3
- Alumina cup G. lefs large diam, 6. 6- 9.5 | G4N75
- Alumina cup G. lens large diam. Gr8-0 12 8 | 54n74
- Alumina cup G. lens Iar_g_e_g@_m_ Gr.10- B 16,0 i 54N88
- Alumina cup G. lens large diam. Gr. 12- 8190 | 53N87
- L.G.diam. G. lens sirlcon nitride cup Gr.6 P9, 5 |

I.onq silicon nitride-Lava cup Gr8@12,8 I

- Long silicon nitride- I_.._ava cup Gr.10 816 |
- Long silicon nitride-Lava cup Gr.12 819 |

- longbackcap LIAT

- Medium back cap : | d
- Short back cap = = _ 57Y04

- D-RING | 98wis
- Ergon Handle |
- Additional screw L

Micro 1 position

- Minr_o 2 positions (on-off) =
- Switch 1 position
- Switch 2 positions (on-off) & | L
- Long switch |
- Joint and ring — i
- Powercable mt.4 3/8°G connection STD | 40V64.12
- Power cable mt. 8 3/8°G connection STD I 41v29.25

ORIGINAL REF. PACK

10
10
10

10
10
10
10
10
10
10

10

10
10
10
10
10
10
10 |
10

10 |
10 |
10
10
10
10

10 |



	162
	163

